Name:  ____________________________________

Class:  __________________
Answer the following equations based on the activity performed in class.

1.  Identify the independent variable(s) and dependent variable(s) from the activity.  Which of these variables represent the domain and which the range?

2.  What do you think would be a reasonable domain for the equations we developed in class?  What do you think would be a reasonable range for the equations?

3.  If given the height of an individual, could you find the lengths of the femur, humerus, tibia, and radius?  Explain how.

4.  As stated during the activity, forensic scientists use particular equations to find the height of an individual given the lengths of one of the four bones listed in question 3.  What assumption is made about all men and women who are the same height?  Is this a fair assumption?

5.  Graph all four equations on the same coordinate plane.  Draw a horizontal line through the point on the y-axis that corresponds to your current height.  Now, draw a horizontal line through the point on the y-axis that corresponds to 10 centimeters less than your present height.


a.  Which of the four bones grew the most while your height increased 10 centimeters.


b.  Which of the four bones grew the least?

6.  Is there any height within the chosen range of the model at which the lengths of any two of the bones are the same?

Answer the following using the four models found in class.
1.  If the length of a man’s femur is 73 centimeters, what is his estimated height?

2.  If the length of a woman’s humerus is 75 centimeters, what is the estimated length of her tibia?

3.  If a woman’s height is 356 centimeters, what is the estimated length of her radius?

4.  If the length of a man’s tibia is 85 centimeters, what is the estimated length of his femur?

5.  If the length of a woman’s humerus is 32.3 inches, what is her height in inches?  

(Hint: 1 inch ≈ 2.54 centimeters)

6.  After the age of thirty, the height of a person begins to decrease at a rate of about 0.06 cm per year.  If the length of 65 year old man’s femur is 68 centimeters, what is his height?

7.  The length of a 73 year old woman’s femur is 25.6 inches.  Find her height in inches.
